EUROMEHANIKA TRANSMISSION E-mail: info@euromehanika.ru; Tenecor: +7 812 985 51 08; +7 (800) 600 99 10

UL » » AV A A

Martepuan: AnoMUHUA

OuameTp
: : OTBEPCTUA, WcnonHeHve
Tun ApTukyn
oTBepcTUs
8 5
6 5)
8

SC6UU SC6UUEMT 206 265 6 9 15 30 18 15 20 34 15 25 M4x8 0,034
SC8UU SCBUUEMT 260 400 8 11 17 34 22 18 24 34 18 30 M4x8 0,056
SC10UU  SCI0UUEMT 370 540 10 13 20 40 26 21 28 6 43 21 35 M5x12 0,090
SC12UU  SCI12UUEMT 410 590 12 15 21 42 28 24 74 305 575 43 26 39 M5x12 0,112
SC13UU  SCI3UUEMT 500 770 13 15 22 44 30 24,5 8 33 55 43 26 39 M5x12 0,123
SC16UU  SCI16UUEMT 770 1170 16 19 25 50 385 325 9 36 7 43 34 44 M5x12 0,189
SC20UU  SC20UUEMT 860 1370 20 21 27 54 41 35 11 40 7 52 40 50 M6x12 0,237
SC25UU  SC25UUEMT 980 1560 25 26 38 76 515 41 12 54 11 6,8 50 67 M8x18 0,555
SC30UU  SC30UUEMT 1560 2740 30 30 39 78 59,5 49 15 58 10 6,8 58 72 M8x18 0,685
SC35UU  SC35UUEMT 1660 3130 35 34 45 90 68 54 18 70 10 6,8 60 80 M8x18 1,100
SC40UU  SC40UUEMT 2150 4010 40 40 51 102 78 62 20 80 11 86 60 90 M10x25 1,600
SC50UU  SC50UUEMT 3820 7930 50 52 61 122 102 80 24 100 11 86 80 110 M10x25 3,350

SC60UU  SC60UUEMT 4710 10000 60 58 66 132 114 94 30 108 12 10,7 90 122 M12x25 4,270


mailto:info@euromehanika.ru
tel:+78129855108
tel:+78006009910

